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Note : This paper is of seventy (70) marks containing 

three (03) sections A, B and C. Learners are 

required to attempt the questions contained in these 

sections according to the detailed instructions given 

therein. 

uksV % ;g iz’u i= lŸkj ¼70½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. (a) Explain the characteristics of computer. 

dEI;wVj dh fo’ks”krkvksa dh O;k[;k dhft,A 

(b) Explain the classification of computers according 

to the data handling technique. 

MkVk dks l¡Hkkyus dh rduhd ds vuqlkj dEI;wVj ds 

oxhZdj.k dh O;k[;k dhft,A 

2. (a) How the computer can be used in hospital health 

care system ? 

vLirky esa LokLF; lsok iz.kkyh esa dEI;wVj dk dSls 

bLrseky fd;k tk ldrk gS \ 

(b) Describe the classification of programming 

languages. 

izksxzkfeax Hkk”kkvksa ds oxhZdj.k dk o.kZu dhft,A 

(c) Write short notes on the following : 

(i) BCD code 

(ii) EBCDIC code 

fuEufyf[kr nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i) ch lh Mh dksM 

(ii) bZ ch lh Mh vkbZ lh dksM 

3. (a) Draw the block diagram of computer and explain 

the working of every element. 

dEI;wVj dk CykWd vkjs[k [khapdj mlds izR;sd rRo 

dh dk;Z&iz.kkyh dh O;k[;k dhft,A 

(b) Distintuish between Primary memory and 

Secondary memory. 

izkFkfed Le`fr ,oa f}rh;d Le`fr ds e/; vUrj Li”V 

dhft,A 
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4. (a) Classify the computers according to size. 

dEI;wVj dks lkbt ¼vkdkj½ ds vuqlkj oxhZd`r 

dhft,A 

(b) What is the significance of binary coding 

schemes in computers ? 

ckbujh dkssfMax Ldhe dk dEI;wVj esa D;k egRo gS  

(c) What are impact and non-impact printers ? 

bEiSDV ,oa ukWu&bEiSDV fizaVj D;k gSa \ 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer six (06) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy N% ¼06½ iz’uksa ds mŸkj nsus 

gSaA  

1. What is operating system ? Describe the main 

functions of it. 

vkWijsfVax flLVe D;k gS \ blds eq[; dk;ks± dk o.kZu 

dhft,A 
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2. Define Information system. Why Information systems 

are required ? 

lwpuk iz.kkyh dks ifjHkkf”kr dhft,A lwpuk iz.kkyh dh D;k 

vko’;drk gS \ 

3. What are the characteristics of an effective 

Management Information System ? 

izHkkodkjh izcU/kdh; lwpuk iz.kkyh dh D;k fo’ks”krk,¡ gSa \ 

4. What are the benefits of office automation ? 

vkWfQl vkVkses’ku ds D;k ykHk gSa \ 

5. Computers are automatic machine. Explain. 

dEI;wVj ,d vkWVksesfVd e’khu gSA O;k[;k dhft,A 

6. What do you mean by multiprogramming  and 

multiuser operating system ? 

eYVhizksxzkfeax ,oa eYVh;wtj vkWijsfVax flLVe ls vki D;k 

le>rs gSa \ 

7. What do you mean by Computer language ? Explain 

all its types. 

dEI;wVj ySaXost ls vki D;k le>rs gSa \ blds leLr 

izdkjkssa dh O;k[;k dhft,A 

8. Explaian the characteristics and limitations of 

computer. 

dEI;wVj dh fo’ks”krkvksa ,oa lhekvksa dh O;k[;k dhft,A 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct alternative. 

lgh fodYi pqfu,A 

1. A computer accepts ........... from the user. 

(a) Input  

(b) Output 

(c) Memory 

(d) None of these 

,d dEI;wVj ;wtj ls 
------------------ 

Lohdkj djrk gSA 

¼v½ buiqV 

¼c½ vkmViqV 

¼l½ Le`fr 

¼n½ buesa ls dksbZ ugha 

2. ........... is known as brain of computer. 

(a) CPU 

(b) CU  

(c) Keyboard 

(d) All of these 



 [ 6 ] BBA–104 

A-25 

------------------ 
dks dEI;wVj ds fnekx ds :i esa tkuk tkrk gSA 

¼v½ lh- ih- ;w- 

¼c½ lh- ;w- 

¼l½ dh cksMZ 

¼n½ ;s lHkh 

3. ASCII is .......... . 

(a) 8 bit code 

(b) 7 bit code 

(c) 16 bit code  

(d) None of these 

,- ,l- lh- vkbZ- vkbZ- 
------------------ 

 gSA 

¼v½ 8 fcV dksM 

¼c½ 7 fcV dksM 

¼l½ 16 fcV dksM 

¼n½ buesa ls dksbZ ugha 

4. .......... supervises the activity of each element in a 

computer. 

(a) Application software 

(b) Database 

(c) Operaring system 

(d) None of these 
------------------ 

dEI;wVj ds izR;sd rRo dh fØ;kdyki dh ns[kHkky 

djrk gSA 

¼v½ ,Iyhds’ku lkW¶Vos;j 
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¼c½ MkVk csl 

¼l½ vkWijsfVax flLVe 

¼n½ buesa ls dksbZ ugha 

5. Transistors were used in .......... . 

(a) 1st generation 

(b) 2nd generation 

(c) 3rd generation 

(d) 4th generation 

VªkaflLVj dk mi;ksx
------------------ 

 esa gksrk FkkA 

¼v½ 1 tsujs’ku  

¼c½ 2 tsujs’ku  

¼l½ 3 tsujs’ku  

¼n½ 4 tsujs’ku  

6. CAD is .......... . 

(a) Compter Aided Design  

(b) Computer and Design 

(c) Calculation and Data 

(d) None of these 

dSM dks 
------------------

 dgrs gSaSA 

¼v½ dEI;wVj ,MsM fMtkbu 

¼c½ dEI;wVj ,oa fMtkbu 

¼l½ dSydqys’ku ,oa MkVk 

¼n½ buesa ls dksbZ ugha 
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7. One nibble is equal to .......... . 

(a) 1 bit  

(b) 2 bit 

(c) 3 bit 

(d) 4 bit 

,d fucy 
------------------ 

ds cjkcj gksrk gSA 

¼v½ 1 fcV 

¼c½ 2 fcV 

¼l½ 3 fcV 

¼n½ 4 fcV 

8. The decimal equivalent of binary number 101101 is : 

(a) 45 

(b) 43 

(c) 48 

(d) 46 

ckbujh la[;k 101101 dks n’keyo la[;k esa 
------------------ 

 fy[krs 

gSaA 

¼v½ 45 

¼c½ 43 

¼l½ 48 

¼n½ 46 

9. RAM is ........... . 

(a) Random access memory 

(b) Read and memory 

(c) Read access memory 

(d) None of these 
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jSe dks 
------------------ 

dgrs gSaA 

¼v½ jSaMe ,Dlsl eSeksjh 

¼c½ jhM ,.M eSeksjh 

¼l½ jhM ,Dlsl eSeksjh 

¼n½ buesa ls dksbZ ugha 

10. A joystick is ......... . 

(a) Input device 

(b) Output device 

(c) Painting device 

(d) None of these 

tkW;fLVd 
------------------ 

 gSA 

¼v½ buiqV fMokbl 

¼c½ vkmViqV fMokbl  

¼l½ isfUVax fMokbl 

¼n½ buesa ls dksbZ ugha 
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